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In poker, certain combinations of cards, or hands, outrank other hands, based on the
frequency with which these combinations appear.The player with the best poker hand
at the showdown wins the pot.

ROYAL FLUSH

A straight from a ten to an ace and all five cards of the same suit. In
poker suit does not matter and pots are split between equally strong
hands.

STRAIGHT FLUSH

Any straight with all five cards of the same suit.

FOUR OF AKIND

Any four cards of the same rank. If two players share the same Four
of a Kind, the fifth card will decide who wins the pot, the bigger card
the better.

FULL HOUSE

Any three cards of the same rank together with any two cards of the
same rank. Our example shows "Aces full of Kings" and it is a bigger
full house than "Kings full of Aces."

FLUSH

Any five cards of the same suit which are not consecutive. The highest
card of the five makes out the rank of the flush. Our example shows
an Ace-high flush.

STRAIGHT

Any five consecutive cards of different suits. The ace count as either
a high or a low card. Our example shows a Five-high straight, which
is the lowest possible straight.

THREE OF AKIND

Any three cards of the same rank. Our example shows three of a kind
in Aces with a King and a Queen as side cards, which is the best
possible three of a kind.

TWOPAIR

Any two cards of the same rank together with another two cards of
the same rank. Our example shows the best possible two-pair, Aces
and Kings. The highest pair of the two make out the rank of the two-
pair.

ONE PAIR

Any two cards of the same rank. Our example shows the best possible
one-pair hand.

HIGH CARD

Any hand that does not make up any of the above mentioned hands.
Our example shows the best possible High-card hand.

Visit selectabet.net for free chips at all the best online poker sites
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